



## Boundary value problems involving upper and lower solutions in reverse order<sup>☆</sup>

Weibing Wang<sup>a,\*</sup>, Xuxin Yang<sup>b,c</sup>, Jianhua Shen<sup>c</sup>

<sup>a</sup> Department of Mathematics, Hunan University of Science and Technology, Xiangtan, Hunan 411201, PR China

<sup>b</sup> Department of Mathematics, Hunan First Normal College, Changsha, Hunan 410205, PR China

<sup>c</sup> Department of Mathematics, Hunan Normal University, Changsha, Hunan 410081, PR China

### ARTICLE INFO

#### Article history:

Received 25 June 2008

Received in revised form 21 October 2008

#### Keywords:

Functional differential equation

Boundary value problems

Upper and lower solutions

Monotone iterative technique

### ABSTRACT

In this paper, we discuss the existence of extreme solutions of the boundary value problem for a class of first-order functional equations with a nonlinear boundary condition. In the presence of a lower solution  $\alpha$  and an upper solution  $\beta$  with  $\beta \leq \alpha$ , we establish existence results of extreme solutions by using the method of upper and lower solutions and a monotone iterative technique.

Crown Copyright © 2008 Published by Elsevier B.V. All rights reserved.

### 1. Introduction

We are concerned with the existence of a solution of the boundary value for functional differential equation

$$\begin{cases} u'(t) = f(t, u(t), u(\theta(t))), & t \in J, \\ g(u(0)) = u(T), \end{cases} \quad (1.1)$$

where  $J = [0, T]$ ,  $f \in C(J \times R^2, R)$ ,  $\theta \in C(J, J)$ . By a solution of (1.1), we mean a function  $x \in C^1(J, R)$  that satisfies (1.1).

Monotone iterative techniques coupled with the method of upper and lower solutions have been widely used in the study of value boundary problems for nonlinear differential equations in recent years, see [5,8,9,11,12,14] and the reference therein. In 2003, Nieto and Lopez [13] considered the existence of extreme solutions of special case of (1.1)

$$\begin{cases} u'(t) = h(t, u(t), u(\theta(t))), & t \in J, \\ u(0) = u(T), \end{cases} \quad (1.2)$$

where  $h \in C(J \times R^2, R)$  and  $\theta \in C(J, R)$ ,  $0 \leq \theta(t) \leq t$ . They introduced a new concept of lower and upper solutions and obtained an existence result of extreme solutions in the presence of a lower solution  $\alpha$  and an upper solution  $\beta$  with the classical condition  $\alpha \leq \beta$  on  $J$ . Also, a similar method has already succeeded in being employed in nonlinear impulsive integro-differential equations and impulsive functional differential equations [4,6,10].

In all the quoted papers, the usual order for the lower and upper solutions is considered. Recently, many researchers have considered existence results for the non-ordered case [1–3,7]. To the best of the author's knowledge, no scholar has

<sup>☆</sup> This work is supported by the NNSF of China (10871062, 10871063), Scientific Research Fund of Hunan Provincial Education Department (07A038).

\* Corresponding author.

E-mail address: [wwbhnnuorcs@yahoo.com.cn](mailto:wwbhnnuorcs@yahoo.com.cn) (W. Wang).

considered boundary value problems for functional differential equations with nonlinear boundary conditions under the assumption of existing upper and lower solutions in the reverse order.

In this paper, we discuss the existence of extreme solutions of (1.1) under the condition of lower and upper solutions with reverse order. The paper is organized as follows. In Section 2, we establish several comparison principles. In Section 3, we consider a linear problem associated with Eq. (1.1). In Section 4, by using the method of upper and lower solutions and the monotone iterative technique, we obtain the existence of extreme solutions of Eq. (1.1).

## 2. Preliminaries and comparison principle

In the following, we denote

$$c(t) = 1 - \sin \frac{\pi t}{2T}, \quad E = C^1(J, R).$$

Throughout this paper, we always assume that the following condition is satisfied:

(H) The constants  $M > 0, N \geq 0, g \in C^1(R, R), g(0) \leq 0$  and there exists a  $r > 0$  such that

$$r \leq g'(t) < \left(1 + N \int_0^T e^{M(\theta(t)-t)} dt\right) e^{MT}, \quad (2.1)$$

$$(M + N)T \leq \frac{r}{1 + r}. \quad (2.2)$$

**Remark.** When (2.1) is satisfied, the reverse of  $g$  exists since the function  $g$  is strictly increasing.

**Definition 2.1.** Functions  $\alpha, \beta \in E$  are called lower solution and upper solutions of Eq. (1.1) if

$$\begin{aligned} \alpha'(t) &\leq f(t, \alpha(t)), \alpha(\theta(t)) + a_\alpha(t), \quad t \in J, \\ \beta'(t) &\geq f(t, \beta(t)), \beta(\theta(t)) - b_\beta(t), \quad t \in J, \end{aligned}$$

where

$$\begin{aligned} a_\alpha(t) &= \begin{cases} 0, & g(\alpha(0)) \leq \alpha(T), \\ (c'(t) - Mc(t) - Nc(\theta(t)))(\alpha(0) - G(\alpha(T))), & g(\alpha(0)) \geq \alpha(T), \end{cases} \\ b_\beta(t) &= \begin{cases} 0, & g(\beta(0)) \geq \beta(T), \\ (c'(t) - Mc(t) - Nc(\theta(t)))(G(\beta(T)) - \beta(0)), & g(\beta(0)) \leq \beta(T), \end{cases} \end{aligned}$$

here  $G$  denotes the reverse of  $g$ .

We present the main results of this section.

**Theorem 2.1.** Assume that  $u \in E$  satisfies

$$\begin{cases} u'(t) \geq Mu(t) + Nu(\theta(t)), & t \in J, \\ g(u(0)) \geq u(T), \end{cases} \quad (2.3)$$

then  $u(t) \leq 0$  for  $t \in J$ .

**Proof.** Suppose, to the contrary, that  $u(t) > 0$  for some  $t \in J$ . We consider the following two possible cases.

Case 1.  $u(t) \geq 0$  for all  $t \in J$ . Let  $x(t) = e^{-Mt}u(t)$ , then  $x(t) \geq 0$  for any  $t \in J$  and  $x(t)$  is nondecreasing on  $J$ ,

$$\begin{cases} x'(t) \geq Ne^{M(\theta(t)-t)}x(\theta(t)) \geq Ne^{M(\theta(t)-t)}x(0), & t \in J, \\ g(x(0)) \geq e^{MT}x(T). \end{cases} \quad (2.4)$$

Integrating the above inequality from 0 to  $t$ , we have

$$x(t) \geq \left(1 + N \int_0^t e^{M(\theta(s)-s)} ds\right) x(0).$$

Hence,

$$\left(1 + N \int_0^T e^{M(\theta(t)-t)} dt\right) e^{MT} x(0) \leq g(x(0)) = g'(\xi)x(0) + g(0) \leq g'(\xi)x(0),$$

where  $\xi$  is between  $x(0)$  and 0. The condition (2.1) implies that  $x(0) = 0$ . Since  $0 \leq x(T) \leq g(x(0)) \leq 0$  and  $x(t)$  is nondecreasing on  $J$ ,  $x(t) \equiv 0$  on  $J$ . Thus  $u(t) \equiv 0$ .

Case 2. There exist  $t_1, t_2 \in J$  such that  $u(t_1) > 0$  and  $u(t_2) < 0$ . Put  $u(t_0) = \min_{t \in J} u(t) = -\lambda$ , then  $\lambda > 0$  and

$$u'(t) \geq -\lambda(M + N), \quad t \in J.$$

We claim that  $u(0) \leq -\lambda + \lambda(M+N)T$ . In fact, if  $t_0 = 0$ , then  $u(0) \leq -\lambda + \lambda(M+N)T$ , if  $t_0 > 0$ , then there exist a  $t_*$  such that  $u(0) = u(t_0) - u'(t_*)t_0 \leq -\lambda + \lambda(M+N)T$ . On the other hand, there is  $t^* \in [t_1, T]$  such that

$$u(T) = u(t_1) + u'(t^*)(T - t^*) > -\lambda(M+N)T.$$

Hence,

$$-\lambda + \lambda(M+N)T > G(-\lambda(M+N)T) = G(0) - G'(\rho)\lambda(M+N)T,$$

where  $-\lambda(M+N)T \leq \rho \leq 0$ . Noting that  $G(0) \geq 0$  and  $0 < G' \leq r^{-1}$ , we have

$$r[-\lambda + \lambda(M+N)T] > -\lambda(M+N)T,$$

that is,  $(r+1)(M+N)T > r$ , a contradiction. The proof is complete.  $\square$

**Corollary 2.1.** Assume that  $u \in E$  satisfies

$$\begin{cases} u'(t) \geq Mu(t) + Nu(\theta(t)) - (c'(t) - Mc(t) - Nc(\theta(t)))(G(u(T)) - u(0)), & t \in J, \\ g(u(0)) < u(T), \end{cases}$$

then  $u(t) \leq 0$  for  $t \in J$ .

**Proof.** Put

$$y(t) = u(t) + c(t)(G(u(T)) - u(0)), \quad t \in J,$$

then  $y(t) \geq u(t)$  for all  $t \in J$  and  $y(0) = G(u(T))$ ,  $y(T) = u(T)$ ,

$$y'(t) - My(t) - Ny(\theta(t)) = u'(t) - Mu(t) - Ny(\theta(t)) + [c'(t) - Mc(t) - Nc(\theta(t))](G(u(T)) - u(0)) \geq 0.$$

By Theorem 2.1,  $y(t) \leq 0$  for all  $t \in J$ , which implies that  $u(t) \leq 0$  for  $t \in J$ . This ends the proof.  $\square$

### 3. Linear problem

Consider a boundary value problem for the linear differential equation

$$\begin{cases} u'(t) - Mu(t) - Nu(\theta(t)) = \delta(t), & t \in J, \\ g(u(0)) = u(T), \end{cases} \quad (3.1)$$

where  $\delta \in C(J)$ .

**Theorem 3.1.** Assume that there exist  $\alpha, \beta \in E$  which are lower and upper solutions of (3.1) and  $\beta \leq \alpha$  on  $J$ . Then there exists one unique solution  $u$  to problem (3.1) and  $\beta \leq u \leq \alpha$  on  $J$ .

**Proof.** First, we show that the solution of Eq. (3.1) is unique. Let  $u_1, u_2$  be the solutions of (3.1) and set  $v = u_1 - u_2$ . Then,

$$\begin{cases} v'(t) - Mv(t) - Nv(\theta(t)) = 0, & t \in J, \\ v(T) = g(u_1(0)) - g(u_2(0)) = g'(\tau_1)v(0), \end{cases}$$

where  $\tau_1$  is between  $u_1(0)$  and  $u_2(0)$ . Noting that  $r \leq g'(\tau_1)$ , by Theorem 2.1, we have that  $v \leq 0$  for  $t \in J$ , that is,  $u_1 \leq u_2$  on  $J$ . Similarly, one can obtain  $u_2 \leq u_1$  on  $J$ . Hence  $u_1 = u_2$ .

Next, we prove that if  $u$  is a solution of Eq. (3.1), then  $\beta \leq u \leq \alpha$ . Let  $m = u - \alpha$ .

If  $g(\alpha(0)) \leq \alpha(T)$ , then  $a_\alpha(t) = 0$  on  $J$ . So we have

$$\begin{cases} m'(t) - Mm(t) - Nm(\theta(t)) \geq 0, & t \in J, \\ m(T) \leq g(u(0)) - g(\alpha(0)) = g'(\tau_2)m(0), \end{cases}$$

where  $\tau_2$  is between  $u(0)$  and  $\alpha(0)$ . By Theorem 2.1, we have that  $m = u - \alpha \leq 0$  on  $J$ .

If  $g(\alpha(0)) \geq \alpha(T)$ , then  $a_\alpha(t) = (c'(t) - Mc(t) - Nc(\theta(t)))(\alpha(0) - G(\alpha(T)))$ . Thus,

$$\begin{aligned} m'(t) - Mm(t) - Nm(\theta(t)) &= u'(t) - Mu(t) - Nu(\theta(t)) - \alpha'(t) + M\alpha(t) + N\alpha(\theta(t)) \\ &\geq -(c'(t) - Mc(t) - Nc(\theta(t)))(\alpha(0) - G(\alpha(T))) \\ &= -(c'(t) - Mc(t) - Nc(\theta(t)))(\alpha(0) - G(\alpha(T)) - u(0) + G(u(T))) \\ &= -(c'(t) - Mc(t) - Nc(\theta(t)))(G(u(T)) - G(\alpha(T)) - m(0)) \\ &= -(c'(t) - Mc(t) - Nc(\theta(t))) \left( \frac{1}{g'(\tau_3)} m(T) - m(0) \right), \end{aligned}$$

where  $\tau_3$  is between  $u(T)$  and  $\alpha(T)$ . Noting that

$$m(0) \leq G(u(T)) - G(\alpha(T)) = \frac{1}{g'(\tau_3)}m(T),$$

by [Corollary 2.1](#), we have that  $u \leq \alpha$  on  $J$ . Analogously,  $u \geq \beta$  on  $J$ .

Finally, we show that Eq. (3.1) has a solution by some steps as follows.

*Step 1.* Let

$$p(t) = \begin{cases} \alpha(t), & g(\alpha(0)) \leq \alpha(T), \\ \alpha(t) - c(t)(\alpha(0) - G(\alpha(T))), & g(\alpha(0)) \geq \alpha(T), \end{cases}$$

$$q(t) = \begin{cases} \beta(t), & g(\beta(0)) \geq \beta(T), \\ \beta(t) + c(t)(G(\beta(T)) - \beta(0)), & g(\beta(0)) \leq \beta(T). \end{cases}$$

We shall show that  $p, q$  are the lower and upper solutions of (3.1) respectively, and

$$\beta \leq q \leq p \leq \alpha \quad \text{for } t \in J. \quad (3.2)$$

Obviously,  $g(p(0)) \leq p(T)$ ,  $g(q(0)) \geq q(T)$ ,

$$p'(t) - Mp(t) - Np(\theta(t)) \leq \delta(t), \quad t \in J, \quad (3.3)$$

$$q'(t) - Mq(t) - Nq(\theta(t)) \geq \delta(t), \quad t \in J. \quad (3.4)$$

It is easy to see that  $\beta \leq p$  and  $q \leq \alpha$  on  $J$ . Let  $m = q - p$ , then  $m(T) \leq g(q(0)) - g(p(0)) = g'(\eta)m(0)$  and

$$m'(t) - Mm(t) - Nm(\theta(t)) \geq 0, \quad t \in J, \quad (3.5)$$

where  $\eta$  is between  $p(0)$  and  $q(0)$ . By [Theorem 2.1](#), we have that  $q \leq p$  on  $J$ . Thus (3.2) holds.

*Step 2.* We consider the equation

$$\begin{cases} u'(t) - Mu(t) - Nu(\theta(t)) = \delta(t), & t \in J, \\ u(T) = \lambda, \end{cases} \quad (3.6)$$

where  $\lambda \in \mathbb{R}$ . We show that Eq. (3.6) has a unique solution  $u(t, \lambda)$  and  $u(t, \lambda)$  is continuous in  $\lambda$ .

Define a mapping  $A : C(J) \rightarrow C(J)$  by

$$Au(t) = \lambda - \int_t^T [\delta(s) + Mu(s) + Nu(\theta(s))]ds.$$

Clearly, the fixed point of  $A$  in  $C(J)$  is a solution of (3.6) and  $C(J)$  with norm  $\|u\| = \sup_{t \in J} |u(t)|$  is a Banach space. For any  $x, y \in C(J)$ , we have

$$\begin{aligned} |(Ax)(t) - (Ay)(t)| &\leq \int_0^T [M|y(s) - x(s)| + N|x(\theta(s)) - y(\theta(s))]|ds \\ &\leq (M + N)T\|x - y\|. \end{aligned}$$

The condition (2.2) implies that  $A : C(J) \rightarrow C(J)$  is a contraction mapping. Thus there exists a  $u \in C(J)$  such that  $Au = u$ . The Eq. (3.6) has a unique solution.

Let  $u(t, \lambda_1), u(t, \lambda_2)$  be the solution of

$$\begin{cases} u'(t) - Mu(t) - Nu(\theta(t)) = \delta(t), & t \in J, \\ u(T) = \lambda_i, & i = 1, 2, \end{cases} \quad (3.7)$$

then

$$u(t, \lambda_i) = \lambda_i - \int_t^T [\delta(s) - Mu(s, \lambda_i) - Nu(\theta(s), \lambda_i)]ds, \quad i = 1, 2,$$

$$\max_{t \in J} |u(t, \lambda_1) - u(t, \lambda_2)| \leq \frac{1}{1 - (M + N)T} |\lambda_1 - \lambda_2|.$$

*Step 3.* We show that

$$q(0) \leq u(0, \lambda) \leq p(0) \quad (3.8)$$

for any  $\lambda \in [g(q(0)), g(p(0))]$ , where  $u(t, \lambda)$  is the unique solution of (3.6).

Let  $m(t) = u(t, \lambda) - p(t)$ . Suppose that  $u(0, \lambda) > p(0)$ , then  $m(0) = u(0, \lambda) - p(0) > 0$ ,  $m(T) = u(T, \lambda) - p(T) \leq u(T, \lambda) - g(p(0)) \leq 0$  and

$$m'(t) - Mm(t) - Nm(\theta(t)) \geq 0.$$

By Theorem 2.1, we obtain that  $m(t) \leq 0$  for all  $t \in J$ , which is a contradiction.

Let  $n(t) = q(t) - u(t, \lambda)$ . Suppose that  $u(0, \lambda) < q(0)$ , then  $n(0) > 0$ ,  $n(T) = q(T) - u(T, \lambda) \leq g(q(0)) - u(T, \lambda) \leq 0$  and

$$n'(t) - Mn(t) - Nn(\theta(t)) \geq 0.$$

By Theorem 2.1, we obtain that  $n(t) \leq 0$  for all  $t \in J$ , which is a contradiction.

Step 4. Let  $P(\lambda) = g(u(0, \lambda)) - \lambda$ , where  $u(t, \lambda)$  is the unique solution of (3.6). From step 3, we have

$$P(g(q(0)))P(g(p(0))) \leq 0.$$

Since  $P$  is continuous in  $\lambda$ , it follows that there exists a  $\lambda_0 \in [g(q(0)), g(p(0))]$  such that  $g(u(0, \lambda_0)) = \lambda_0$ . Obviously,  $u(t, \lambda_0)$  is the unique solution of (3.1). This ends the proof.  $\square$

#### 4. Main result

Our main result is the following theorem.

**Theorem 4.1.** Assume that the following conditions are satisfied

- (i)  $\alpha, \beta$  are lower and upper solutions for the boundary value problem (1.1) respectively,  $\beta(t) \leq \alpha(t)$  on  $J$ .
- (ii) The constants  $M > 0, N \geq 0$  in the Definition 2.1 satisfy

$$f(t, x, y) - f(t, \bar{x}, \bar{y}) \leq M(x - \bar{x}) + N(y - \bar{y}),$$

for  $\beta(t) \leq \bar{x} \leq x \leq \alpha(t)$ ,  $\beta(\theta(t)) \leq \bar{y} \leq y \leq \alpha(\theta(t))$ ,  $t \in J$ .

Then, there exist monotone sequences  $\{\alpha_n\}, \{\beta_n\}$  with  $\alpha_0 = \alpha, \beta_0 = \beta$  such that

$$\lim_{n \rightarrow \infty} \alpha_n(t) = e(t), \quad \lim_{n \rightarrow \infty} \beta_n(t) = r(t)$$

uniformly on  $J$ , and  $e, r$  are the maximal and the minimal solutions of (1.1) on  $[\beta, \alpha] = \{u \in C^1(J, R) : \beta(t) \leq x(t) \leq \alpha(t)\}$ .

**Proof.** For any  $\gamma \in [\beta, \alpha]$ , we consider the equation

$$\begin{cases} u'(t) - Mu(t) - Nu(\theta(t)) = f(t, \gamma(t), \gamma(\theta(t))) - M\gamma(t) - N\gamma(\theta(t)), & t \in J, \\ g(u(0)) = u(T). \end{cases} \quad (4.1)$$

Since  $\alpha, \beta$  are lower and upper solutions of (1.1), by (ii), we have that

$$\begin{aligned} \alpha'(t) - M\alpha(t) - N\alpha(\theta(t)) &\leq f(t, \alpha(t), \alpha(\theta(t))) - M\alpha(t) - N\alpha(\theta(t)) + a_\alpha(t) \\ &\leq f(t, \gamma(t), \gamma(\theta(t))) - M\gamma(t) - N\gamma(\theta(t)) + a_\alpha(t) \\ \beta'(t) - M\beta(t) - N\beta(\theta(t)) &\geq f(t, \beta(t), \beta(\theta(t))) - M\beta(t) - N\beta(\theta(t)) - b_\beta(t) \\ &\geq f(t, \gamma(t), \gamma(\theta(t))) - M\gamma(t) - N\gamma(\theta(t)) - b_\beta(t). \end{aligned}$$

Therefore,  $\alpha, \beta$  are lower and upper solutions of (4.1), by Theorem 3.1, the Eq. (4.1) has a unique solution  $u \in E$ . We define an operator  $T$  by  $u = T\gamma$ , then  $T$  is an operator from  $[\beta, \alpha]$  to  $[\beta, \alpha]$ . Hence,  $\alpha \geq T\alpha, T\beta \geq \beta$ .

Next, we show that  $T\mu_1 \leq T\mu_2$  if  $\beta \leq \mu_1 \leq \mu_2 \leq \alpha$ .

Let  $m = T\mu_1 - T\mu_2$ , then by (ii) and (4.1), we have

$$\begin{aligned} m'(t) - Mm(t) - Nm(\theta(t)) &= f(t, \mu_1(t), \mu_1(\theta(t))) - f(t, \mu_2(t), \mu_2(\theta(t))) \\ &\quad - M(\mu_1(t) - \mu_2(t)) - N(\mu_1(\theta(t)) - \mu_2(\theta(t))) \\ &\geq 0 \end{aligned}$$

and

$$m(T) = \mu_1(T) - \mu_2(T) = g(\mu_1(0)) - g(\mu_2(0)) = g'(\varsigma)m(0),$$

where  $\varsigma$  is between  $\mu_1(0)$  and  $\mu_2(0)$ . By Theorem 2.1,  $m(t) \leq 0$ , which implies  $T\mu_1 \leq T\mu_2$ . Hence,  $T$  is nondecreasing in  $[\beta, \alpha]$ .

Define the sequences  $\{\alpha_n\}_{n \in N}, \{\beta_n\}_{n \in N}$  such that  $\alpha_n = T\alpha_{n-1}, \beta_n = T\beta_{n-1}$  with  $\alpha_0 = \alpha, \beta_0 = \beta$  for  $n \in N = \{1, 2, 3, \dots\}$ , then

$$\beta_1 \leq \beta_2 \leq \dots \leq \beta_n \leq \alpha_n \leq \dots \leq \alpha_2 \leq \alpha_1$$

on  $t \in J$ , and each  $\alpha_n, \beta_n \in E$  satisfies

$$\begin{cases} \alpha'_n(t) - M\alpha_n(t) - N\alpha_n(\theta(t)) = f(t, \alpha_{n-1}(t), \alpha_{n-1}(\theta(t))) - M\alpha_{n-1}(t) - N\alpha_{n-1}(\theta(t)), & t \in J, \\ g(\alpha_n(0)) = \alpha_n(T) \end{cases}$$

and

$$\begin{cases} \beta'_n(t) - M\beta_n(t) - N\beta_n(\theta(t)) = f(t, \beta_{n-1}(t), \beta_{n-1}(\theta(t))) - M\beta_{n-1}(t) - N\beta_{n-1}(\theta(t)), & t \in J, \\ g(\beta_n(0)) = \beta_n(T). \end{cases}$$

Therefore there exist  $e, r$  such that

$$\lim_{n \rightarrow \infty} \alpha_n(t) = e(t), \quad \lim_{n \rightarrow \infty} \beta_n(t) = r(t)$$

uniformly on  $J$ . Clearly,  $e, r$  are solutions of (1.1).

Finally, we prove that if  $x \in [\beta, \alpha]$  is any solution of (1.1), then  $r(t) \leq x(t) \leq e(t)$  on  $J$ . Since  $\beta(t) \leq x(t) \leq \alpha(t)$  and  $x = Tx$ , we easily obtain by the fact that  $T$  is nondecreasing in  $[\beta, \alpha]$  that

$$\beta_1(t) \leq x(t) \leq \alpha_1(t), \quad t \in J.$$

Hence, we can conclude that

$$\beta_n(t) \leq x(t) \leq \alpha_n(t) \quad \text{for all } n.$$

Passing to the limit as  $n \rightarrow \infty$ , we obtain that  $r(t) \leq x(t) \leq e(t)$ ,  $t \in J$ . This ends the proof.  $\square$

**Example 1.** Consider the equation

$$\begin{cases} x' = \frac{1+x^2(t)}{10} + \frac{2}{5} \sin x(0.1t), & 0 \leq t \leq 0.25, \\ \frac{1}{2}x(0) - \frac{1}{4} \sin x(0) = x(0.25). \end{cases} \quad (4.2)$$

Clearly,  $\alpha = 0$  and  $\beta = -1$  are lower and upper solutions of (4.2) respectively. Let  $M = 1/5$ ,  $N = 2/5$ , then the condition of Theorem 4.1 is satisfied. Hence, (4.2) has maximal and minimal solutions on  $[-1, 0]$ .

**Example 2.** Consider the equation

$$\begin{cases} x' = \frac{3x(1-t) - x(t)}{20}, & 0 \leq t \leq 1, \\ x(0) - p = x(1), \end{cases} \quad (4.3)$$

where  $p > 0$  is a constant.

Let  $M = 0.01$  and  $N = 0.15$ . Clearly,  $\alpha = 0$  is a lower solution of (4.3). Put  $\beta = -20p$ . Noting that  $\beta(0) - p < \beta(1)$ , we have that  $G(\beta(1)) - \beta(0) = p$ ,

$$\begin{aligned} \beta' &= 0 > \frac{3\beta(1-t) - \beta(t)}{20} - (c'(t) - Mc(t) - Nc(\theta(t)))(G(\beta(T)) - \beta(0)) \\ &= \left( \frac{\pi}{2} \cos \frac{\pi t}{2} + Mc(t) + Nc(\theta(t)) - 2 \right) p. \end{aligned}$$

So  $\beta = -20p$  is an upper solution of (4.3). By Theorem 4.1, (4.3) has maximal and minimal solutions on  $[-20p, 0]$ .

## References

- [1] A. Cabada, P. Habets, R.L. Pouso, Optimal existence conditions for  $\phi$ -Laplacian equations with upper and lower solutions in the reverse order, J. Differential Equations 166 (2000) 385–401.
- [2] A. Cabada, V. Otero-Espinar, Existence and comparison results for difference  $\phi$ -Laplacian boundary value problems with lower and upper solutions in reverse order, J. Math. Anal. Appl. 267 (2) (2002) 501–521.
- [3] A. Cabada, M. Grossinho, F. Minhosc, Extremal solutions for third-order nonlinear problems with upper and lower solutions in reversed order, Nonlinear Anal. 62 (2005) 1109–1121.
- [4] W. Ding, J. Ran, M. Han, Periodic boundary value problems for the first order impulsive functional differential equations, Appl. Math. Comput. 165 (2005) 443–456.
- [5] J. Ehme, P. Elloe, J. Henderson, Upper and lower solution methods for fully nonlinear boundary value problems, J. Differential Equations. 180 (2002) 51–64.
- [6] Z. He, X. He, Periodic boundary value problems for first order impulsive intergro-differential equations of mixed type, J. Math. Anal. Appl. 296 (2004) 8–20.
- [7] D. Jiang, Y. Ying, J. Chu, D. OReganc, The monotone method for Neumann functional differential equations with upper and lower solutions in the reverse order, Nonlinear Anal. 67 (2007) 2815–2828.

- [8] D. Jiang, J.J. Nieto, W. Zuo, On monotone method for first and second order periodic boundary value problems and periodic solutions of functional differential equations, *J. Math. Anal. Appl.* 289 (2004) 691–699.
- [9] T. Jankowski, Solvability of three point boundary value problems for second order ordinary differential equations with deviating arguments, *J. Math. Anal. Appl.* 312 (2005) 620–636.
- [10] R. Liang, J. Shen, Periodic boundary value problem for the first order impulsive functional differential equations, *J. Comput. Appl. Math.* 220 (2007) 498–510.
- [11] G. Ladde, V. Lakshmikantham, A. Vatsala, *Monotone Iterative Techniques for Nonlinear Differential Equations*, Pitman Advanced Publishing Program, Pitman, London, 1985.
- [12] J.J. Nieto, R. Rodrigue-Lopez, Existence and approximation of solutions for nonlinear functional differential equations with periodic boundary value conditions, *J. Comput. Appl. Math.* 40 (2000) 433–442.
- [13] J.J. Nieto, R. Rodriguez-Lopez, Remarks on periodic boundary value problems for functional differential equations, *J. Comput. Appl. Math.* 158 (2003) 339–353.
- [14] N. Yazidi, Monotone method for singular Neumann problem, *Nonlinear Anal.* 49 (2002) 589–602.